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Q.P. Code : 586200

{ 3 Hours ) [ Total Marks ! iy

N.B. : (1) Question No.1 is compulsory.
2 T ' - §T 3 ‘ |
[_} solve any Four from remaining guestions.
(37 Assume snitable data wherever necessary and slate it clearly.

I. (a)} State the thearem of wtal probability, :
(h) Distinguish between a discrete and a continuous random wvariable., 3
(c) State and cxplain central limit theorem. 3
(d) Define Strict Sense Staticnary and Wide Sensc Stationary Process. ]

10

(s) Define probability distribution furiction of random variable. State important

properties of it and prove.
(k) The joint Prababilily density function:of (%, ¥) is-given by 10
B Kelinh 3 <<y <o
Find : K 5 '
() Marginal densities of £ and y
(i) Are X and Y independent? g

3. {a) Suppese X and Y are two pandom variables, Define covariance and correlation. 10
coefficient of X and Y. When do we say that X and Yare (1} ortho gonal
(ii} independent and iii) uncorrelated? Are pncorrelated random variables
independent? :
(b} A stationary process i5 given by X (1) = 10 cos [ 100 t T ©_] where is 10
4 random varable with uniform probability distri hutiotin the interval
[-7, 7). Show that it is @ wide sense stalionary process.
.- 4 (@} State and prove Bayes Theorem. : 10
utocorrelation of the outpul process ¥ (1) if WSS 10

"> {b) Obtain the Mean and A
input is applied to L17T systems.

i NVER
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ieal Density: rale its important Properi, ang
oy,

5. {a) Explain Power Spec

any onc property. "
(b) State and prove Chapm an-K olmogarav egquation.
Iy

f the Poisaon distribulion ang b,

i

6. {a) Find tbe cheracteristic funclion 0
lhe values of the first four EL.I'lf.Iﬂl moments,

) Throw bogs A, B and C are throwing n bail 10 cach other A alyy, ,
the ball 1o B and B always throws the ball to C, but € is just g, i ? U
throw the ball to B &x to A, Shaw. that the process is Mmkmlw hnhﬁ

the transition matcix and classi fy the slates.

i 1t

T Wrile short notes on
(1) Toint and conditional probability 3
(b) Moment generating function
(c) Ergodicprocess
(4] Seqguence of random variable
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Q.P. Code : 587801

E:"TC/ESH/ c:E:&E/ Lerr V

(03 Hrs) Fotitl Masks: 80

N.B.:
1) Question Number 1 is Compulsory
2j Anempt any Three questions from the remzining Five questions
3 Assumiptions mude should be clearly sued.
4) Lise of normal 1able is permitiml

I Agiwer the following -
) Foran LTY system with stochastie Input prove that astogerrelatinn of sutpat I8 glven iy canvolution of s
rigs-carrelation (between Inpar-outpur) nnd LT1 system impaie response.,

b)  Seppase that m pair of falr diee are tacsed and let the #V X dennte the suin Af the prints. Obasin protabiliy U3
mais fanctlon and cumuolative dictribotion function for X,
ti “I -.’4'4' 1"' and “-‘I and ¥ are I“’-Iﬂi'!ﬂdﬂ'll then iderlie FH“'“:]"I = Canh wiluies nf r.:lhrr.\. gmd ¥ [lf
@)  Write s nole on the Markov chalas 05
2s) Define and Explaln moment gencrating function in detail. a5
by LetZ =XV Determine fiz) 0%
¢y Thejalnl edfola blvariate rv. (X, 1) Is ghen by
Fo(zy)=0—e=)1-e®)c20y20af>0
= [} otherwise.
iy Find the merginal cdlMs ol X & V. L
i Show (il X & Y are independent. n
iin Find PEX<E, 1210 PLYST), POFSTE PO, For) Akt
3a) Explain stroag law of large numbers and weak law of large nuimbers. @5
b}  Wrile s fuote oa birth and death gueuing medels, %
€} Adistribution with unknows meon p bas variance eqeal to 1.5, Use central limit theorem 1o find how largea 10
sampie shouid be taken from the distribuatica n order that the probability will be at least .99 that the
mmple mean will be within 0.5 of the popalstion mean. !
48} Siate and prove Chapman-Kolmogorvy equathas. as
b)  State and prove Bayes thearem, 05
03

t) ()  State amy three properties of power spectral density.
{ii) ITthe spectral densiiy of a WSS process la glven by 07
ﬂl"'] nHH'ﬂ'r'! fWi=a
=0 b
Find the avtocorrclation function of the process,

58} The joint probabifity fusction of two diserete ex.'s X and Fis given by fiv, 1) = efle = 1) where v and r can it
assurne all integers such that 0 x5 2, 05y < 3 and flx, ) = 0 otherwise. Fiod ELX), E(1), E{YT), ENF),

E{F), var(A), var{ I, cov(X; 1), and 2

I'Toen [hver
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4 1)
Let X ba :u:m::ai <arishie csngting the lenglh of the todt, iz, the number of binary symbels,
i What i the ramge ol 2T
il Sheteh tha cdf i) of X, and spocify the Be Bf Y.
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T,
HI3ITUT MICROCONTROLLERS AND APPLICATIONS

) V| @eser) oA 25097
Q.P. Code ; 587902

(3 Hours ) [Total Marks : 80

N.B,

‘.?1. Question No. 1 s cotmalsory
= Atlempt aty 3 questions from Q.2 to 08,

Flgures to the right in e bracker Indicate full marks
4. Aszsume sultable dara if necessary

C1 A) Explaln program status register of 8051 Mitrocantroller [5 8]
Q1 B) Explain features of ARp 7 (5 1]
1 C] Explain concept of Come-a,SortaR and Cartex-M [5 0]
(1 D} Explain SCON register of 8051 migrocantroller [5 M]
Q2 A] Draw and explain internal memary arganlzatisn of 8051 microcontreller [10ed]
(12 B) Explain addressing modes of ARM7 processor with examples. [10M]
03 A) Draw and explain architacture of ARM7 processor. [108]
(33 B} Explain timer modes of operation of 8051 microcontrofier [0}
xd A) Explzin digital camera as an exarmple of embedded system. [1084]
04 B) Design a BO51 haszed system with following specifications [A0kd]
i} 322KB EPROM using SKB davices.
il) 16KB Ran uskng KB devices.
065 A) Explain ARM instruections
aj EOR A4, RO, #3
b) ML& R4, R3, K7, RE
c] CMFP RO, R1
d) ADD RO, RZ, A3, LSL L
g) MVN RO, #4
{15 B) Draw and explaln internal structure of portd and port3 af 8051 micracontraller [10nd]
(16 Write short notes on |[Any Four]
a) Compare features of B9CE1, BOCS2, B0C2051 and BIC2052 (5 M]
b) Dperating modes of ARM7 processar. [s 4]
t) Design metriges of embedded system. |5 M
d) Addressing modes of 8051 micracentrofiar, |5 ]
[5 p]

g} Interrupt structure of B031 migracontroller.
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LR b v E -

Q.P. Code's 5863007+ =

(3 Hourg) | Total Marks : 100

N.E. : (1 Question No, 1 s Compulsary.

2 Bolve any '
Eﬁ = Y& any four questions from the renaining six questions,
i 18ures 1o the vight indicgle full marks.

) Assume suttable data where necessary

1. {: - :
{a) 51:}{?]]“]“ the difference belween SIMP, AIMP afd: LIMP instruction of 5

() Write features of ARM processar,

L] 't - 5
E;,] ]E!r&u. Ii"nTmal of flag register of 8085 and explain. 5
(d) Explain Internal RANM orpanization of 3051 5
2, {a) El’ﬂw and explain g;cl_'mi:j:mru of Suéﬁ_miﬁrﬂprnc&qsur. - 10
(b} Explain mode | for input‘and output of 8255 with suitable dizgram. 10
3. (@) Write initializition sequence of 8259 PIC with neat flow diagram, L
(b) Interface DAC 0808 with 8051 microcontraller and write an assembly 10
language-program to generate square wave with 50% duly cycle. 110
4. (a3} Draw and explain timing diagram of ADD M. 10
(k) DuEl_gn 8025 based aystem as per following specifications. i0
(1} "CPUat5 MHz
(i} EPROM of 16KB using 8KE
(i) RAM of 8 KB using 4 KB chips
Explain the design with memony map,
5 (a} . Explain addressing modes of ARM processor, 10
{b)  Draw block diagram of 8259 PIC and explain, 110
6. (a)  Draw and explain ARM zrchiteclurc. in
(b} Compare RISC and CISC, 10
1. Writc note on any four. 20

(a] Interrupts of BOES.

(b} Fraturcs of 8133,

{c} Interface stepper motor with 8051 microcontroller,
{d) Memory mapped IO and 'O mapped 1/0,

) SCON register o[ 2051,

-

I L L e,
o A T

Sl 3321605 B20842H 13560538 | 1 2546RT47

,
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T325/ TSR N F MODELMG ANT ANTENMAS
(.P. Code : SRE00T

{3 Hours)
|Tatal Murks 80]

N.B. 1) Question No.l is Cempulsany,
i] ilt'f:an;.-'[hm:qu::s:i-:unsfn.-n:ﬂmelnaining.
{1 E-Hmtlsllilahlc:datawhm'.trnmssa:_'.'mﬂj'lJElif;-'f]mH-‘i‘-i"-"‘F“i-m'
£} Drew suitable diagrums wherever required.

I, &) Compare Binomal fileer and chelyshey filker . :
by Whatisreac feld. Fplainitsi '

I al s reactive near ficld. Explain s imponance i communicaticn and irz upplicatians. 3

e} Compars Broadside and Endfire amay. :

3

dp Find the gain of an antenna when physical apertise 15 it at 2 GHz with efficiency B

5 0 Dmg"“mml"ﬁhhiEhF‘iﬁSﬁ"'-“-fh':'lmui;ﬂp’mmnulcrrn-.eﬂln:iwiﬂ]1I};:1'nll1wingsjrcciﬁ:nl:'r:n. in

R =75 €3, = 50 MHz [ = 48 MHz.

by [esign a LPF whose input and oulpus paris are matched 10 509 impednnes witheut ol 1
frequency of 3 Gz, equi pple of 0.5 dR and rejection of atleast 4 4B nt Agpres tywice Ele cul
ol Trequency.
mum 10

Fiecayoie it wirehess conmemicailoe. W hal s mit
ee space for 1G1z Frequency. The system
mo antenna with 17HE gin amil antenna

3, ap Dherivefriss Iranemission formail stale ts signi
power received 2la distanee of 075 kmover b
consisl of transniting eitenng with 3 pain 2nd receivi

is fed with 200 W power.

) Derive radiation resisiance of small dipole. Explain 5 signifcnce. 10

4, @) Tind the radiation parem fr 2 armay of 4 elements fed with same amplinde and opposits 10
phuse. Find its HPRW and BWEN,

b} Draw e Eml,__u,mﬂrmimu-ip arferna. [iscuss 15 chasacteristios, lim itativns and applications. 10

L

it different feeding methods.

pienna and
enna inradic direption

5. a) Describe parzboli reflector 3
f leap antenni [Hseuss use of loopa

w1 Lsplain important featires &
fimdine.

6. Write shurinoles 0Bt
ay RF field effect ransistor
b} Binomial wray
¢) RF bichaviorof rsEor

d) elial anennd

nndfupru:i'.or
txtt*-ﬁttit-ﬂ-t

.-".r':El:'.-‘..'"?Il'!.-_[ITIIJC'-'EEF?U&'-’R.‘:EHSE-EDE

L
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i : : - Fi {1 peroHLnEy [1is.
Adtenuntion versus normalized freguency far eepual-ripper filler ¥

fap 0.5 18 ripple level,
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E.H'ftlm’rﬂilf}bi}{ RT:-“L}D‘ ?'p[ll.ﬂ1g~

N.B. :

. {a} Define the term skin depth. Lamput:, skm dr:pﬁ mr mppcr al | ﬁHﬁ _. ;

(b)

(c)

(@)

2 (a)-
Ok
MO
S5 )

' - the m]mt p::-ta

= least E-I}dB grteruation at t

CHS P T 1 F Crreun pi: KM

Q.

(3 Hours)

(1) Question No.1 is compalsory

P. Code ; 580401

| Total Marks 100

2} Answer
(2] any four guestions out of remaining six -.]uﬂﬂmm

(3} Assume suitable data is MECEsSaTy

and 10 GHz. :
The condoctivity of E-:}ppl::r 5, IJI\..-L! = t?--i 51'5 o
Starting with basic dv:f_[mtmn of sr:md[ng i e,

that it can be trxpmqed ps;

SWR= T _ St o

Draw the equiv alent circuit and find the wd
paramelers for L‘nupi::d [ransnmmun line.

Explain. the Current; ﬂ:m m pri _runm,!-:}n antl yve the expression for
in tu-ms r:n" dnfﬁasmn wnqtanr. ﬂmi 1.-'ﬂ i in terms ol doping

T
L-:rnc-.':mmnmi 3

o
i e Lt “"\.

. By
S A

2t ..\.' ]

:]:J{j:rlaln I{F u
Fora. transm:asmn ]mé urcu;thﬂwng
of Zo = 606 and. £ = 5062 respectively and 7

rer H!]d powet delivered to the foad,
]tIlE to bc }U-i aild source. vcrItage of ¥, = 8V.

Discuss pnwer conside

{i1 Sourc
(i) Load impedance is matched a

“Designa prﬂ-[lf!t:.-'PL
he freqn ot F=21 4

1he amplitude respense for 0 o 5 GHEZ,

ABENASELETY Felops i oelREFE L P e

ehawﬁur of rts:sm l‘, :,-Elpammr and induclor.
spuree and [oad terminatiens 11

ration In transmission line when

-mismatched,
[aw pass bulterworth 1 filter that will provide at

S HILE -'m ¢
rutln (5 ‘ﬁr’R:l ﬂmw

L] |

d and even mode 5

"'\. &

10

n = 730, compule
Assine length of

10

e and load impedances are matched
nd source impedance i

. Compute and plot

TURNOVER

A
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Q.P. Code ; 5864¢;

the fol fuwillg normalized impedances and convert into

I

4. (a) Identify . !
admittances usin & smith chat, Also find correspond ing reflection
coeflicients and SWR M

~ W Z2=0.1+j0.7 (i) z=02-j07 (i) Z=0.5
(b} Explain the following filter parameters I
Six i l
(i) Insertion loss (i1} Ripple factor (i) Bandwidth
(iv) Shape factor (v) Rejection :
3. (a) Draw the Ebers moll mode| of -]!argt signal BJT and explain in 1y
detail the transport Fepresentation and injection form o
(b)  Explain construction ang functionality of ijgh electron mobility 1
Iransisior. .
6. (@) Define and derrvcﬂcpqrﬂme.lﬂrs -fm'IBJiIf ‘&ndF:ET_\ 3 10
(b)  Plot ang compare.the fraign response of BIT, FET apg HEMT. 10

7. Write shor note mi: e : . S 2
(2} '_Micms_tlfipx...énﬁm'iﬁiﬁqiliné_ :
(b} “Chiebyshey filter™ s 5 AT

L@ :Phr_sfﬂﬂ!'pfqpcrtiﬂs_pfmn_imnctumbrs
k! ) 'Mﬁ-ﬂﬁimmﬁﬂﬁ OFAC parameqers of BIT,
‘ HF?[;H .
l e Scanned by CamScanner



Ex’.;l{a[ Sem jj_) CH:}?‘{ 3 5/ o5 [utf/F !

TALIE S kad sianal s o sy e

Q. I Code : S86502

wlctmum hlorks 1no
[gration : 3 Hrs

& H. 2 = i) Crestion No. L is eompulsory,

0 I if) Auswer any four questions ot of reruaining six questions.
jify Tiwre to the right indicates full nimcks.

iv) Dlnsteate the answess with sketehis wherevr reiquired,

(.1, Bolve any four 2
gy [iraw even arud ocld part of the Wllewing signals

iy owt) = 200 = 2r(-1= 2ui-3)

i) (= i) - o)+ 2 01-2) = oft=3) + =) - 2ui=3]
¥y Faplnin whelher the Tollowing siannls ans power signals of tneTgy signuls

iy x(t)= 0.9 uff)

iy xltp= Asi
¢] List the properties of Laplace transfoem.
dy Ferfom sogvolution of the following eoninsens Hoe syslent using Lap!ace irmns o

Zuft) willy k).
: 2 g

g Find impulse response and plot £z} = o |z]<2
oy M

Find the gven and add components of

Pal) = sinlt -+ cost + ginl . o8

A | _ i
| b) Convolute x(r) = (137 uln} with b{n) = (12 using copvolution sum formidla and

a)

f using Z transform L N
] é':cl:-:fh}l!;:ﬂmftﬁ[wm.g sigmn] : %(t) = 2+ 2ot -2 1{1-48) = 2 ufi-t)
g ing & oW
} Referring ta the Figure 3 (8} a2 piven below, sheteh the following signal
a
i) x[d=n], i} z[Fu+l], fif} x[n]. v[2-n] ‘T 1‘:.“}
PO 1
= 5 T|y
T
o S
’ Fig. 3 (&)
TURN OVER
uﬂzﬁl-‘ﬁﬂ:T?L}Da[-Em:'.'ta-:.'a'rr.'u‘.':tr?m::

B y
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TILEFVTOMS SIGMALS & SYSTEMS

r

' Q. P. Code: 546502

TN

f}‘:-l = - -
1, - model of a discrete ime system is mven by
S

ﬂfﬂ;g % Bf3) oI sk

_— urne 260
o discrele time system for the unit step mput. A5

-tal mnﬂiﬁﬂﬂ .

given System in cascade and parallel form

(143:7)

I it % =TT ot
B [i—z_"-l—%z"“} (- f’-k%zﬁ}

) Hﬁﬂﬂﬂ the

ime OM

T : discrett famie
A= [‘3 p 1 Find the state transtien matrix af

) Frthe sYSET matix A= [ g -2

¢

5}'5!.'{'-111-
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Q.1 Code : 588101

(3 Ho
urs
el ‘Total Marks : g0
,_“1 Chuesiion No.l is compul I|
Atempl any SOy
(2 Attempt any three ques| .
3 stions aut ol
3 EUres o ebedeg 5 oul of remaim
{‘I] 1:;&‘ ! 11:.1“1"_ right indicate full w U;HHHHE e
(4) Assums suitable data if narks.
requi i
sheet, Imired and mention the same in ansWer

 gglve a0y four -
. :
oy Classify and expla 3 0
&) &4 plain the various types of noise alTecti avicat]
(b) AM is a wastage of power and band se alTecting compnicaliorn:
g " andwideh, justify the st :

| () Compare i ML B justify the statement.

. (d) Fxplain Pre-emphasis and De-emphasis
(e} What is companding. |

wsed to madulate 8 carrier signal

alian, frequencies of the
{he BW olthe modulaled

1 (@) A modulating signal 20 sin (2nx 1000 L) is
2 sin (27T 10000 1), Find the percentage maddul
sideband companents and their amplitudes. What is
sianal? Also draw the spectrum of the AM wave.

(b} Explain with neat block dipgratn any onc metho

mnted sideband.

d for suppression af 10

HIWE
, {g) What are different methods of FM aenieration? Qletch the citcuit and explain 10
) 2

the principle of reactancs modulator: o
i' by Seate and prove sampling thearem for hand limited 51

gmal. What i aliasmg 10

? - pffect?

' i Jelta odulat Ayhat 10
|4 (s Explain witl neat plock diagran wotking of Adaptivt delta modulatar, WEE

are the dra whacks

(b} What 15 signal multipl

7
Jslator: i

of deltn met o
exing? Explaitt FOd el
gfonm af AN Supet petarodyne 10

oy andd WS
5 (@) Explain with neat block diagram a7 e
1 1 e oln of circits
TS s Fast geeley disc.riminameih {he help af G
| : : stet
(o) Explain operatich of FO

and phasor diagratn-

i
E,
[ =]
E.:
&
£
5._,

rurN OVER
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TAIZSSTOE AR AL O pAR LLEIE AT [

Q.P. Code : zq8 101

yrite short notes ot any four - |
Lh Vestipial Side Band (V5B) transmission.

E]ES; practical diode detector with delayed AGC,
neration and detection of PPM.

GE n r
Eﬁ Amplitude limiting and thresholding in IFM.
(&) Quadrature amplitude modulation.
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r o Qe v S/ :LCj 4 ¢ /2015

}Cﬁgm

gf{f_ TIIZITOS20 INTRORATID Clne: Uy s
0. P, Code : SRE2H1
Time: 3lours Minr ks B
i () Question No.1 is compulsary,

golve any Ve =

B
(b

e
{d
(€]

1 (8)

()

i@

{b)

4 (a)
(b)
5o (@)

®)

6, Writé shart ° . inmetic Logic Unit
jB1 AS
(a) ll':'_T &9 4-bit up/down binary cuunt:r‘ .
(b} IC Iﬁ,,; serial input parallel cutpul shifl register
(1€ T 906 waveform generator

‘Monolithic Swite

()  Solve any three questions from the remai
(3)  Figures to the right indicate ful) ..m,k_.;'mm"“ five,

H} Assume suilable data “'I‘Equlrﬂll el smendion the soime in e aiswer shee!

: : 3 20
compare the inverting & non inverting configurations of operstional amplifiers.

Dira¥ ﬂr".ﬂ diagram for a grounded load voltage to current converter and derive B
expression for the output current,

Design a first order non-inverting high pass filler to provide a cut-ofl frequency of 3 ki2
Explain the functional block diagram of Timer [C 535,

Draw the waveforms for the outputs of IC 7490 with respect (o the clock and hence
explain its working as a decade counter,

Explain simple current limit protection in volage regulators,

Draw a neat circuit diagram of an instrumentation amplifier using three o BITES. Derive 14
the expression for its gain. How can its gain be varied? What are itd nclvantages ver o
difference amplifier using single op amp? . o e
with the help of a neat diagram explain the working of an C phise shilt oscillstor ;.l'::r:; it
op amp. Derive the expressien for its frequency of oscillaion. What are the values of B &

C if the frequency of oscillation is 5 kHz?

i i o wiltape tansfer 10
i t diagram, input and oulpil wavelonms sler
b th:‘ !tl'ﬂje:? fl:'m':'l?e wnari%ing ::!' an inverting Schmitl ngger. Derive lll1l: ExprEssIons
characteristi “:I;.Erthrmhnld levels. Explain how these levels can hg 'l.rurl-::lll. L igh
fur. the upper. & { mﬂ;-di'agr;m: and waveforms at approprigte paints in the u;u!:;uil, ?mpia[n
s the._he.lp :—l;squm and triangular wavelorm generator ushjg Ofy A Y. Frplain how

:!;E ;ﬁﬁ?ﬂz of the sguare and iriangular waveforms can be varied.
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; i {1C. 723 voltage regulutor und explain its working as
Draw the f““':llll':ﬂgil hlnﬂg{i:_ﬂﬁﬁi;:; the same for an output of § V and load current upto
a basic JoW i . CEPRET iy
200 mA. & neat functional block diagrm explain the working of IC LT 1070 1
with the help © 5

i ing i . i help af 10
: able multivibrator using timer JC 555. With the help f
Draw the dmﬁiﬂﬁ;ﬁﬂ:ﬂ cross the charging capacilor and al the output explain s
eform AL " for u pulse width of 11 ms. o . . _
:'-::Hins- ! :::::;fult dins:ﬂmﬁ gxplain the working ol a universal shifl register (LS L
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Please check w)
M.B: 1. Question H"-‘T“h:;tﬁ: you nave got the fight auestion panet,
compulsory.
2, Attem ikl
3 pt any four geestions from Q2 to Q7.
p raw neat labelled di 3
4. Figurestorl diagrams wherever tequired.
o rlght indicate full marks.
aprempt any five from the Following: 10
S 1,|'|.I1mt_:|re the "-"H”“-'i'_ and effects of Thermal pol'utlon?
1, Exploin ENETEY flosw in amy ecosystem,
¢. Explain the impartance of Auman Rights,
4. what are the reasons and effects of ozone |ayer deplation?
o, Wiy our-natutal minersl = RS e dipleting?
b ey ErE.thE I:Iﬂn-renmuame energy resources? What ars thair lmitaticns?
g. ‘What s “Biolegical Prospecting™
. Why out natural forests reSOuTCes art depleting? Wwihat will be 15 impact EEEr
b, What Is wasteland reclaimation? How teiscarvied out?
i [ i ' as
4, What is the impact of growing gopuletion an prvironment? 5
t, What are the catists and effzcts af maring pollution?
j - 05
a, Euplain bricfiy the Salent Jeatures of AiF paliuticn Preventicn and Cartral Ak &
p. Which are tha different tnreats 1o blgdiversity
i it} 05
L. What arethe urban problems p&rtan?lngm e ! e
., What are the causes and efieds of &ir pollution?
0s
i sl ures and functions of Aquatic Ecosystem. :
g, Write Ch:an'actemtlt feal s o im-,;lemr:nled P o i i
b, How disaster nanagement t
05
pt \What ars the ways 1o achleve It? =

hat iisuswinable gJevelopment! _
o fly the d'lﬁerenttr.-thn.quns il

b, Explain brie

emmented for solld waste manzgement.
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